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7 100kN/m##82% | 1.00 ) 000 ~ 1.14 117,16 |3mZEBAD| — ~ — — — | 100kN/m%#825 | 1.00 | 10564 ~ 1404\ 11716 |3mEHBZS -~ — — —
s 1.00 | 1.14 ~ 892 100.00 | =nst | 000 ~ 892 | 2.21 11.83 Thlst 1.00 | 6.00 ~ 1054 100.00 | =hst | .00 ~ 1404)| 2.21 11.83
2 100kN/m%E#8z5| 1.00 | 000 ~ 1.59| 12421 |3m&E#BZB| — ~ — — — | 100kN/m%#825% | 1.00 | 1072 ~ 1674 124.21 |3m%E#BZS - ~ — — —
s 1.00 | 1.59 ~ 9.37 100.00 | #nLst | 0.00 ~ 9.37| 2.28 12.18 Thst 1.00 | 6.00 ~ 1072 100.00 | =nLst | 6.00 ~ 1674| 2.28 1218
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 000 ~ 478 59.54 | FnRS | 000 ~ 4.78| 1.97 10.63 Thlst 1.00 | 6.00 ~ b6.58 59.564 | =nH | 5,00 ~ 658 1.97 10.63
4 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 6.15 7719 | Ens | 000 ~ 615| 1.94 10.40 st 1.00 | 6.00 ~ 7.70 7719 | 0S| 6.00 ~ 770 1.94 10.40
5 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 000 ~ 477 59.41 | FnRS | 000 ~ 4.77| 1.76 9.40 Thst 1.00 | 6.00 ~ 5.00 59.41 | =hs | 5.00 ~ 6.00| 1.76 9.40
100kN/mM%EBZ % ~ ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEEAD ~
zhst ~ st ~ zhLst ~ st ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8 % % ~ ImEEAD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhus ~
100kN/mMZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEBAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEBZ D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




